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(1) BERX=('"+32)—2 32 —4z—12=2(z+3)— 2 (z+3)—4(z+3)

=(z+3)(P—2—4)=(z+3)(F*—8—x*+4)
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=+ (=) +2x+4)—(x—2)(x+2)]
=(x+3N(x— (2 +2x+4—x—2)
=(zx+D(x—2) (L +x+2);

(8) R =(36x"+84x+49)(3x*+7x+4)—6.

® y=31"+"7x,

m ERX=002y+49)(y+4)—6=(3y+10)(4y+19).

" ERA =02 +212+10)(122° +28x+19)
=3x+5)@x+2)(12:7+28x1+19);

(9 BERX=2—14+3L"-3=(x— D (2 +x+1D+3(x—D(z+1)
=(r—1 (2 +xr+1+3x+3)=(x—D(x+2)°.

*khk13 Bl ab.c R atbtc=1,a2++=2,*+0+F=3,KR "+ +' B

{H. (2000 4 & B 47 % $ ¥ 3 F XA [5]

BER o (atbto)’=d 4+t +2(abtbectac), O ab+bc+ac=—%.
XV @B+ E—3abc=C(a+tb+c)(a®+b+cF—ab—bc—ac), . abcz—(li—.
at+bot+ct =@+ + ) —2a b — 24  F — 265 F
=@+ +c?)?—2[(ab+bctac)? —2abc(atb+c)]
_25

6"

*aAx]4 FEHELHEEN, ZWR ke’ — 22y +3y* +3x—5y+2 BB AFD—KH
AHTER, R K +5k+ R (2000 4 4 B 41 o 3 % E K AD (5]

B REWR ko’ —2xy+3y° +32—5y+2 AR —KERK az+oy+1 5
cx+dy+2,l
kxt—2xy+3y*+3xr—5y+2

-2-af}-pd)

= (ax+by+1) (cxt+dy+2)
—acr? +(ad+bc)xy+ (c+2a)x+(d+2b) y+2+bdy*.
ac=k, )
ad+bc=—2, ®
ct+2a=3, ®
bd=3, @
d+2b=—5. ®
H®.08 b=—1,d=—3.RAOQ,#
—3a—c=—2, , a=—1,
ct2a=3, 1% ¢=5.
k=ac=—5.
1
B Skt §=25—25+5 =



